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Question 1
Question Type: MultipleChoice

An organization wants to prevent incidents which share common symptoms or root causes from reoccurring. They also want to minimize

the adverse impact of incidents that cannot be prevented.

Which management function addresses the organization's requirements?

Options: 
A- Incident management

B- Security management

C- Problem management

D- Availability management

Answer: 
C

Question 2



Question Type: MultipleChoice

Which type of machine learning algorithm produces results using a reward and feedback mechanism?

Options: 
A- Reinforcement learning

B- Unsupervised learning

C- Traditional learning

D- Supervised learning

Answer: 
A

Question 3
Question Type: MultipleChoice

If the erasure coding technique used divides data into 12 data segments and 5 coding segments, what is the maximum number of disk

drive failures against which data is protected by the configuration?



Options: 
A- 5

B- 7

C- 3

D- 17

Answer: 
A

Question 4
Question Type: MultipleChoice

What is a benefit of implementing a big data ecosystem?

Options: 



A- Applies new processing and management methods to derive better business value from unstructured data

B- Implements new technical and analytical methods to derive business value from large object data

C- Applies new processing and management methods to improve large relational database response performance

D- Implements new technical and analytical methods to derive business value from large datasets

Answer: 
D

Question 5
Question Type: MultipleChoice

A Fibre Channel switch has eight ports and all ports must be operational from 8AM to 8PM, Monday through Friday. However, a failure

of Port 7 occurs in the week as follows:

Monday = 11AM to 12PM

Wednesday = 4PM to 9PM

Thursday = 4AM to 9AM

Friday = 2PM to6PM



Saturday = 9AM to 1PM

What is the availability of Port 7 in that week?

Options: 
A- 75%

B- 83.3%

C- 80%

D- 68.3%

Answer: 
B

Question 6
Question Type: MultipleChoice

What method does FCIP use to transport Fibre Channel SAN data?



Options: 
A- FCIP encapsulates and tunnels FC SAN data over Ethernet networks.

B- FCIP encapsulates and tunnels FC SAN data over IP networks.

C- FCIP splits LAN and FC SAN data and tunnels FC SAN data over Ethernet networks.

D- FCIP separates LAN and FC SAN data and tunnels FC SAN data over IP networks.

Answer: 
B

Question 7
Question Type: MultipleChoice

Refer to the exhibit.



Which option shows the correct sequence of steps to perform a data recovery operation?



Options: 
A- Option A

B- Option B

C- Option C

D- Option D

Answer: 
B

Question 8
Question Type: MultipleChoice

Under the PaaS model, which elements are managed by the consumer?

Options: 
A- Applications and Data

B- OS and Runtime



C- Middleware and Networking

D- OS and Virtualization

Answer: 
A
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